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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st -l -~ = -| #hist -~ = = = Zh st = -~ = - En LS = Rt = = -
9 100kN/mM#%#BZ % 1.00/ 000 ~ 1.70 126.10|3mZi#BZD| - ~ = - -| 100kN/MZE#B 2% 1.00| 1065 ~ 17.14 126.10(3m%i#B% % al ~ - - -
Zh st 1.00[1.70 ~ 949 100.00] Zhlist | 000 ~ 949 229 11.60 Zh LS 1.00| 500 ~ 10.65 100.00f Zh it | 500 ~ 17.14] 229 11.60
3 100kN/mM##8Z % 1.00/ 000 ~ 144 121.87|3mZi#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 1091 ~ 16.54 121.87|3m%i#BZ% = ~ = = =
Zh st 1.00[1.44 ~ 922 100.00] Zh st 000 ~ 922| 224 11.32 Zh LS 1.00|] 5.00 ~ 10.91 100.00| Zh it | 500 ~ 16.54| 224 11.32
4 100kN/mM#%# 8% % 1.00/ 000 ~ 1.61 124.66|3mZi#BZDH| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.54 ~ 16.00 124.66|3m%ZiHBZ% = ~ = = =
Zh st 1.00[ 161 ~ 940 100.00] Zh st 000 ~ 9.40| 240 12.13 Zh LS 1.00] 500 ~ 1054 100.00| Zh it | 500 ~ 16.00] 2.40 1213
5 100kN/mM#%# 8% % 1.00{0.00 ~ 259 140.69|3mZ#BZD| - ~ = = -| 100kN/iZi#8 % % 1.00| 1057 ~ 21.73 140.69|3m%#BZ % = ~ = = =
Zh st 1.00f 259 ~ 10.37 100.00] Z#hlist | 0.00 ~ 10.37| 2.76 13.97 Zh LS 1.00|] 500 ~ 1057 100.00| Zh it | 500 ~ 21.73] 2.76 13.97
6 100kN/mM#%#BZ % 1.00{0.00 ~ 1.94 129.99|3mZi#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00/ 11.20 ~ 21.30 129.99|3m%#BZ % = ~ = = =
Zh st 1.00[ 194 ~ 973 100.00] #hlist | 000 ~ 9.73] 251 12.68 Zh LS 1.00] 500 ~ 11.20 100.00| #hlist | 500 ~ 21.30] 251 12.68
7 100kN/mM#%# 8% % 1.00{0.00 ~ 1.94 130.00|3mZ#BZBH| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.99 ~ 20.20 130.00(3m%i#B% % = ~ = = =
Lot 1.00]1.94 ~ 973 100.00] Zhist |0.00 ~ 9.73] 254 12.84 Zh st 1.00f 500 ~ 10.99 100.00f Z1List | 500 ~ 20.20f 2.54 12.84
8 100kN/mM%#EZ % 1.00{0.00 ~ 2.67 142.03|3m%EHB %% -~ = = -| 100kN/MZE#BZ % 1.00| 10.74 ~ 26.00 142.03|3m%E#B %% = ~ = = =
ZnLst 1.00] 2.67 ~ 10.45 100.00| Zh List = it - - - Zhn st 1.00f 500 ~ 10.74 100.00| ZhList = e - - -
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ ZhLst ~
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Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
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Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
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LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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